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:- Accounts Group :-
AUDITING AND COST ACCOUNTING

(Paper - Iv) (Old) (MAY - 2018)
, [Time: Three Hours] [ Marks:100]

Q.P. Code : 37220

Please check whether you have got the right question paper.

N.B: 1. Questions No, 1, 2 and 7 are compulsory and answer any two from the rest.
2. Figures to the right indicated full marks allotted to the questions.
3. Working notes wherever necessary should form part of your answer.
4. Answer both the section in the same answer book.
Q.1 A) What do you understand by the term vouching? Explains its objectives? (08)

B) How would you vouch the following?
I)  Commission Received
I1) Prepaid Expenses

Q.2 A) Select the appropriate option and rewrite the following sentences. (06)
a) The auditor of a Government company is appointed by
1) The Shareholders i) The Board of director

iii) The Contoller & Auditor-General of India  iv) The Central Government
b)  Prior period expenses are

i) Expenses of the current year pald in previous year.

i1) Expenses to the previous year paid in current year.

iii) Expenses of the previous year paid in previous year.

iv) None of the above
c) The auditor should examine in case of sales returns.

i) Credit notes & delivery challan

ii) Debit notes & cash memo

iii) Purchase invoice & goods received notes

iii) Credit notes and goods received notes
d) SA which deals with audit sampling.

i) 530 i) 400 iii) 610 iv) None of the above
e)  Working papers are the property of the .

i) Client ii) Client & Auditor iii) Auditor iv) None of the above
f)  Which of the following errors will affect the trail balance

i) Repairs of machinery wrongly debited to machinery account

i) Total purchase journal is short by Rs. 2000

iii) Fright paid on purchase of new machinery debited to fright Ac

iv) None of the above

B) Match the column: (06)
Column A Column B
1) Re-appointed of Auditor a) Statutory Auditor
2) Right shares b) SA -230
3) Royalty ) Reports to management
4) Report to shareholders d) Lease deed
5) SA dealing with working e) Add cost to the cost of original shares
paper
6) Internal Auditor f) Shareholders at annual general meeting
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Q.3

Q.4

Q.6

Q.7

1)
2)

Explain the different type

of frauds.

Explain the audit technique in details.

What are the contents of an Audit Programme?
What are the objectives of Internal Audit?

What are the advantages & disadvantages of verification?

Discuss the importance of Audit note book.

Write short notes (Any Three)

Types of errors

Appointment of first auditors

Special Audit
Quialities of an auditors
Balance sheet Audit

Q.P. Code

: 37220

Following information is furnished by Arjun Ltd. For the year 31% March 2048.

Section |1

Particulars Rs
Salesman Salary 64,750
Opening stock of Finished 76,000
goods (2000 Units)
Indirect Wages 97,630
Repairs to office equipments 40,170
Work Manager salary 1,19,470
Direct wages 79,170
Direct Expenses 49,660
Direct Materials 1,00,100
Director Fees 97,370
Showroom expenses 1,06,875
Depreciation on computer 1,21,290
Indirect Material 73,190
Depreciation on plant & 47,710
machinery
Advertisement 1,53,375
Office Salary 79,170

Closing stock of finished
goods (3000 units)

?

Additional Information:

Profit expected on sales is 20%.

Units sold during the year was 25000. Prepare cost sheet showing total cost and cost per unit
and find out total profit and per unit profit for that year.
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Q.P. Code : 37220
Q.8 Vinod Ltd provides you the following:
Information for the month of March 2018 about processes L, M and N.
Particular Process L | Process M Process N
Basic Raw Material introduced 22,000 4,580 3,940
(Units)
Cost of Basic Raw Material P.U 24 28 32
(Rs)
Factory Overheads 40% of | 40% of Labour | 40% of Labour
basic Raw Charges charges
Material
Sundry Material 1,46,320 99,760 88,340
Labour Charges 3,45,200 2,93,700 2,44,800
Normal Loss % 3% 5% 7%
Scrap Value P.U. (Rs) 10 12 15
Output transferred to next 70% 60% --
process (%)
Output sold at the end of the 30% 40% 100%
process (%)
Selling Price P.U. (Rs) 70 90 115
Prepare three Processes Accounts.
Q.9 Vaishnavi construction Co. Ltd has undertaken three contracts during the year and following
particulars are available as on 31/03/2017.
Particular Contract A | Contract | Contract C
(Rs) B (Rs) (Rs)
Material Issued 1,63,600 2,26,500 1,87,400
Labour charges 1,00,800 1,28,300 1,22,700
Sub contract charges 84,800 85,900 42,500
Insurance charges 3,500 6,500 7,200
Architect Fees (% of work 3% 3% 3%
certified)
Contract Price 10,00,000 | 25,00,000 7,50,000
Work certified 4,00,000 5,00,000 5,00,000
Work Uncertified 40,000 45,000 25,000
Amount received from 80% 90% 75%
contractee (% of work
certified)
Closing stock of Material 9,000 10,000 20,000

All contracts were commenced during the current year. Total depreciation on plant was

Rs.22,400/- to be allocated to all contracts in the ration of work certified.

Prepare three contracts accounts and show the calculations of profit transfers to profits & loss

account.

(15)

(15)

Q.10 A) The following information is available from records of a company as at 31 March 2017 & 18. (09)

Particulars 2017 (Rs) (Rs in Lakhs) | 2018 (Rs) (Rs in Lakhs)
Sales 6000 8000
Profit 1200 2000
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Q.11 a)

1)

b)

)
1)

Q.P. Code : 37220

Calculate

P/V Ratio

Fixed cost

Break Even sales in Rupees

Sales required to earn profit of 3000 Lakhs
Profit for sales of Rs 5000 Lakhs

Margin of safety when sales is Rs 9000 Lakhs.

Calculate Material variance for the following:
Standard for 180 kg of finished output
Material 270 kg @ Rs 12 per kg

Actual Production — 1,62,000 kgs

Material Used — 2,48,000 kgs

Cost of material used — 29,51,200/-

Following details are provided by ABC Ltd.

Standard hours for 12 units 60 hours
Standard Rate Rs. 30 per unit
Actual Production 6,000 Units
Actual hours 14,700 hours
Actual Rate Rs. 72 per hour

Calculate
Labour Cost Variance 2) Labour Rate Variance

From the following details. Find out profit or loss as per Financial Accounts.

Particulars Rs.
Under absorption of factory overhead 74,000
Advertising expenses charged in financial accounts only 58,400
Profit as per cost accounts 65,600
Over valuation of closing stock in financial accounts 38,400
Depreciation charged less in financial accounts 28,400
ABC Enterprises Furnishes the following information.
Year Sales Rs. Profit Rs
2016-17 9,00,000 90,000
2017-18 12,00,000 1,50,000
Calculate
P/V Ratio
Fixed Cost

I11) Sales to earn profit Rs. 2,00,000

K 3k K 3k Kk K 3k 3k K 3k k kK k k k
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Please check whether you have got the right question paper.

T 2 4. WA 5, 2,3 ST o AR A, Teish frmTIelier Stered Siishl shivrder  "iea.
3. ISTATRET 3Tehe Ut T[0T SR fordTal.
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THTOTTA ol fowel sharer ey farsymm.
ot ShaTe et IR SR, THT AIST WICATAT T T she Tt STTheHIE STEHT,

. 0 37) T3 38 U= R0 T 0% ¢ Tefict UahT HUHI=AT AT} GTTICTSHTOr SUTTse TR, (o)
quiRTe 020 (. — 78) R0%¢ (8. — )
%Fmpf §,000 ¢, 000
EEAl ,R00 R,000
e
R) T HTHRA VIR
R) ferufem

3) AT T AT AT fosht (%)

¥) ¥. 3000 TG TH HSATATHTS! forshl

4) . Yooo ARG fershl o EIOTRT T

&) foshl 2 0 00 TG U= GRleTerdT HiHT

. R0 &) WIaiie AifgdIae Al e Fer, (08)
A — §¢o Toh. 7. SeUTET (TaFRT TTeT) WIS
AT — 9o Rl gfafratr &, 22
T feeh JedTed — ¢,&R, 000 TRl
T HTAHMM — R,%¢, 000 ol

ITRAT ATAGTHHTE forHd — &, R],4¢,300/-

. 2% 37) TS foAfiee arefia st foeiesm a1med. (o4)
HIF ATl § R TSt o d™
AT & %, 30 Yot =T
IR Teoh 3cdTe €,000 T
Tk aTe 2% 900 qTH
ATEA T T . 93 Tt T
FIaT.
R) Al afteTaTdiet wieh
R) AT T ®lh

Page 8 of 9



Q.P. Code : 37220
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